
iil

Student worksheet

Relating a number sentence toaslory

Question 1

I'ilade lud 12 biseits. Slle tirn,lte ? anli gare 3 to a frierd
Hor\ nran) blscLllts does Nf.rtie h.rve leftJ
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$'h8h.l (E li)ll,Nri g \ro,icr,t,*-r 148 - 37 Nr.hr

Tlt.r. !'! l.ls ganr\ in on. txJJ.rl aDd Ji erar: in xrorlrc. Iartdoc\Nh.t as the t(nxl nuDttrolgoarsl,
TlEd xre I.lS !oxt\ n' ekh.l iT ntrntlo.l\
Hos .r n!' gonh nre rhcra xlrog*rlr$l

i- TlErc i.c 11$Soxls rh{r n..d r1, bc frl htn .17 l)ntldo.li'.
Ho\t rlBnI pxrs Nill b!. in t.(h Fddoctrl
Then arc l-ls Sorb iD otre Ir ddrcli xnd :r7 olth. rc l{l orh r hrti

\r.(r t!4rh!:trfp[. xndZ]. 'n41 r r.nL{(
lhu\ lifl. rl.'firisIh E rr\.:

1r{ rL$Y ro,rlu, (hllr 1,.\ '
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rr Circr6.i r, rry
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Student worksheet

Esiimating length and capacity

This buckel is tull, il holds about

o to.r
O roo *L
orr
o ro r

WMt is lhe approximale mass of2.5 L of mitk?
O 25 ks

C) 2.8 k9

(:) 25 9
(f 2.5 s

Which of lhe following would be the besl
estimate of lhe height ofa claEsroom doo.?
c) zos 

"'nO z.os",
cJ zos.
o zo.s.n '

Approximately how much water is in this bollle?

O
O
(f
O

E00 mL

750 mL

650 mL

500 mL

ffi

h Ye,rr J dren ,u,:, I.l nloe i:lrls thnll bol.s
Tlenr ktorrs dtrnc t]le,lg gil.ls

Ho!1 c.ln Tl'ent lrolk out tlu nlunbcl ol bovs i'i \inr.-ll
. atll l9 rcr l3
. sulltrn.t 13 flom Jq

- mulripl\, 13 bv {q
:. diville.tO tx li
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